H & 0l & At H A M

. S[E]
SH - B - SRI(3I) - NIRAR - BaS il &bt S HmE=
CIAHSHX| R 0t 627,693 588,564 39,129
= 190,8%
o= 38,429
= 398,368
D | =BT 617,693 578,564 39,129
= 190,8%
o= 38,429
= 388,368
A5 2XNA(A2200I2EE3IH) 617,693 578,564 39,129
= 190,8%
o= 38,429
= 388,368
220 AXHHBAEER(AZ A2S A EX3) 64,041 57,908 6,133
- 2SS0 2elArghl
= 53,367
o= 10,674
101 21248| 64,041 57,908 6,133
= 53,367
o= 10,674
03 I HAZ2 X2+ 32,021 29,500 2,521
O2AZ 20 2te|AL 2124H| 32,021,000& 32,021
= 26,684
o= 5,337
04 JIRIH2 2 EE S 32,020 28,408 3,612
O2Z 20 2te|AL 2124H| 32,020,000& 32,020
= 26,683
o= 5,337
S220 AXHHBAEER(AZ A2S A EX3) 17,846 18,000 A154
- 230 BHBH|
= 14,664
o= 3,182
201 2| 5,726 6,840 A1, 114
= 4,580
o= 1,146
01 A2teld| 5,726 6,840 AT1,114
O2=s0s 2 S 5,726,000 5,726
= 4,580
o= 1,146
202 Oid| 12,120 11,160 960
= 10,084
o= 2,036
01 WAL 12,120 11,160 960
O2d=2s50 HF=E 0l
20,0002 +62]*221x12& 2,880
= 2,3%
o= 484
O2dE2=50 w=s0d| 200, 000&%53*30! 3,000
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SA:

Folug
M DD EMHRE
CHol: HASS A=K (ARSHIIZSBEIMH) (el &e)
% (5]
SA - HH - S9I(3H) - MIRAY - BES Ol S HIDS
= 2.0%
= 504
SEEEIELIEv
260,00024+201 %128 6.240
2 5,192
= 1,048
2230 UXISHBARE(AZ ARSHAILE HE3) 147,433 110,900 3,538
- 9283201 #3301
2 22,865
= 24,573
307 212H0IN 147,433 110,900 3,538
2 22,865
= 24,573
NEEVYN=E 147,433 110,900 3,538
SEEEIVE-EEL 147,438,002 147,433
2 22,865
= 24,573
2230 2N 12,951 2,160 10,791
101 Q14| 12,951 2,160 10,791
CESIP RIS 12,951 2,160 10,791
O 12,689
V=R E] 30,0008 +1 2128 1,560
ImE=EESE] 50,0008 128 600
0tsag 40,0008 128 480
OZEEIMI 1= (1,952,380%)+60%+23] 2,319
0JIL4E  JI=S(1,932,380%) <1004 7,730
OB 4Y2EE 262
OEET 2,640,00024%7/1,000 19
0ALREE 2.,640,00024+3.06% 81
Unt=EET 2,640,00024+1. 5% 40
WERIE] 2,640, 00024 %4. 5% 119
0o RYREE 80, 78484+3. 275% 3
2220 UXSHALLE (2201 W2H| M) 375,41 389,59 A14,179
308 XHXIEHHISOI 375,41 389,5% A14,179
07 RXISHRI2E S 375,41 389,5% AT4,179
SNELEE 375,417,008 375,41
NEEEIE R ENENY 10,000 10,000 0
ERWETEEENVPEEEERD 10,000 10,000 0
SIIEEIETE 10,000 10,000 0
802 pret 2| et 10,000 10,000 0
03 I35 10,000 10,000 0
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